Lesson 12 Problem Set

Name Date

Use the RDW process to solve the following problems. e T

1. The table shows the cost of party favors. Each party guest receives 1 balloon 26¢
a bag with 1 balloon, 1 lollipop, and 1 bracelet. What is the total 1 lollipop 14¢
cost for 9 guests? 1 bracelet 33¢
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2. The Turner family uses 548 liters of water per day. The Hill family uses 3 times as much water per day.

How mu;h water does the Hill family use per week?
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3, Jayden has 347 marbles. Elvis than 4 times as many as Jayden. Presley has 799 fewer than Elvis. How

many marbles does Presley have? 217
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a. Write an equation that would allow someone to find the value of R.

(2x116T)-3377

roblem to correspond to this tape diagram, then solve.
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Use the RDW process to solve the follo
ds than

1. lJennifer has 256 pink beads. stella has 3 times as many beads as Jennifer. Tiah has 104 more bea

Stella. How many peads does Tiah have?
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Date

Name

Use the RDW process to solve the following problems.
s in Chrissy’s new sticker book. Chrissy's siX friends

e number of stickers of various type
Chrissy and her six friends have altogether?

1. The table shows th
rr}any stickers do

o own the same sticker book. How
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2. The small copier makes 437 copies each day. The large copier makes 4t
es the large copier make each week? 533
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4. a. Labeltherest of the diagram below. Solve for M.

oblem that could be solved using the diagram above.
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Date
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Solve using the RDW process.

1. Over the summer, Kate earned $180 each week for 7 weeks. Of that money, she spent $375 on a new
computer and $137 on new clothes. How much money did she have left?
5
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3. Three boxes weighing 128 pounds each and one box weighing 254 pounds were loaded onto the back of
an empty truck. A crate of apples was then loaded onto the same truck. If the total weight loaded onto
the truck was 2,000 pounds, how much did the crate of apples weigh?

4. In one month, Charlie read 814 pages. In the same month, his mom read 4 times as many pages as
Charlie, and that was 143 pages more than Charlie’s dad read. What was the total number of pages read
by Charlie and his parents?
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Lesson 13 Exit Ticket.

Date

Name

1. Solve using the RDW process.

a. Michael earns $9 per hour. He works 28 hours each week. How much will he earn in 6 weeks?

b. David earns $8 per hour. He works 40 hours each week. How much will he earn in 6 weeks?

c. After 6 weeks who earned more money? How much more money?

Use multiplication, addition, or subtraction to solve multi-step word
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Name Date

Solve using the RDW process.

1. A pair of jeans costs $89. A jean jacket costs twice as much. What is the total cost of a jean jacket and 4

pairs of jeans?

2. Sarah bought a shirt on sale for $35. The original price of the shirt was 3 times that amount. Sarah also
bought a pair of shoes on sale for $28. The original price of the shoes was 5 times that amount. How
much money did the shirt and shoes cost before they went on sale?
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3. All 3,000 seats in a theater are being replaced. So far, 5 sections of 136 seats and a sixth section
containing 348 seats have been replaced. How many more seats do they still need to replace?

4, Computer Depot sold 762 reams of paper. Paper Palace sold 3 times as much paper as Computer Depot
and 143 reams more than Office Supply Central. How many reams of paper were sold by all three stores
combined?
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